Section 7-3  Identifying Functions from Numerical Patterns

*Go through Patterns on P.280-282

Linear Functions have an Add-Add Property
Adding a constant to x results in adding a constant to y

Power Functions have a Multiply-Multiply Property
Multiplying x by a constant results in multiplying y by a constant

Exponential Functions have an Add-Multiply Property
Adding a constant to x results in multiplying y by a constant

Quadratic Functions have a Constant-Second-Differences Property
The second differences between the y values are constant

Determine what kind of pattern the data has. Identify the type of function that has the pattern.
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7. Describe the effect on y of doubling x if
a. y varies directly with x. Aoubing X ook i il y

b. y varies inversely w1thf the square of x. g J 4
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c. y varies d_i;i_;ly with the cube of x. g ,;
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8. The weight, W, of any animal is roughly proportional to the cube of its length, L.
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a. Write the general equation using Wand L.  \n/ = |

b. An elephant is roughly 10 times as long as a dog. How does an elephant’s weight
compare to a dog’s weight? \nJ - (L (1)~ W = G (a's ;}

W= o (103 W e, 58

c. The skin area is roughly proportional to the square of its Iength If the dog has 4 /

square feet of skin, how much skin does an elephant have? & ciee [0
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